PERMUTATIONS AND COMBINATIONS, BINOMIAL THEOREM - CHAPTER REVIEW

2 A bag contains four discs, each of a different colour. How many different arrangements can be made of
four discs if:

(@) they are selected at random one at a time and placed in a row until the bag is empty

(b) one disc is selected at random, its colour is noted and it is put back in the bag before the next disc
is selected?

“)Acﬂomg R lof, Ron 3 cloicns ﬁm%@d,%?.cﬂo{mﬁ@u
%311//}0 bl = 24

3 How many different arrangements can be made of the five vowels a, e, i, 0, u?

52120

4 How many different four-digit numbers can be formed from the digits 2, 3,4, 5, 6, 7, 8 if:

(@) none of the digits are repeated (b) the digits may be repeated?

%) P _ 80 b) 242401
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5 How many four-digit or five-digit numbers greater than 4000 can be formed using 0, 2, 4, 5, 7 if;

(@) none of the digits are repeated
(b) the digits may be repeated

(c) none of the digits are repeated and the numbers formed are even?

a) 4437&; . con dhout *’J 453 {3&&@%4%/%3&%:{“24@

5 diglo: can otk by 24,83 (idoces) Hon 4321 45 2 1% He 72

b) gl = 3 doimo o fut , Box 53 203x52231 okl 168
Tdigh . g Ater by 24,53 (hdsios) Row 57 40 4x5":)%

o) hdikits " 48 bl (8 X B) o
Jdigl = 10 x3! _ ¢o - Totdd 108

B 7 In how many ways can a cycling team of four riders be selected from a squad of ten riders?

C, =20

9 A mixed volleyball team of eight players is selected from eight males and nine females. In how many ways can
this be done if the team must have an equal number of male and female players?

So 4wl and 4M—

¢, x Cp=70x 126 = 8820

10 A committee of five is to be selected from a class of 30 students.

(@) In how many ways can this be done?
(b) After the committee is selected, one person is elected chairperson and another is elected secretary. In how
many ways can these positions be filled?

9", - 11506
b §x 4 -0
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11 In how many ways can five people be seated in a five-
occupy the driver’s seat?

) X 4] - 48

seater car if only two people have a licence to legally

@1 2 (a) In how many ways can a committee of three parents and four teachers be chosen from six parents and
eight teachers?

(b) The members of the committee are seated in a row of seven chairs on a st
can they be seated?

(c) Find the number of ways of seating this committee if the parents refuse to sit at the ends of the row.
(d) What is the probability that for a chosen committee, the parents do not sit at the ends of the row?

“)5C5x 8(,4 - ,/4-00 b} ;Zl _ 5@4@
V. DﬁDUDDE\"‘3 Lx3 xS = |4L0O

J) Jo not st a8 Re ouda) = 1#40/5040
P(Foml; i Z/'_;

age. In how many different ways

13 A box contains four marbles labelled 2, 3, 4, 6. If two marbles are drawn at random from the box, what is the
probability that their sum is greater than 72
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14 The letters of the word CONSIDER are rearranged. What is the probability that the rearranged set of letters
will begin with ‘SI'?

? 15 Three-digit numbers are formed using the digits 1, 2, 3,4, 5, 6, 7. If none of the digits are repeated, what is the
probability of forming an even number? t E E

3 are 3 poilbh digh ok o F
= @ Ty i}

16 The letters of the word ARRANGEMENT are arranged in a row. “ @/ﬂ'u/)

(@) In how many ways can this be done using all the letters?
(b) What is the probability that the vowels are all together?

. 2,494,800
)Z.A/J/ Z-RA/Z,MA/Z-E-A @Dm 4

}))VO\I\)Q,OA cure.ZAa G)M’LZE—/J i

fow Moy 0 /’«LF& vowely to be bng/».

N 8l — 6 x }0,080: 60/480
yAWA 2121

JO Y
Jis® 165
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17 Three cards are selected from a standard pack of 52 playing cards. What is the probability that at least one of
the cards will be a King?

P(aj‘@wﬂ' one. @ud G &K(/?)zf—P(Mo wd. a%g)

19 Seven-digit numbers are formed using all the digits 2,2, 3,4,6,7,7.

(a) How many different numbers can be formed?

(b) What is the probability that the number formed is odd?

(c) What is the probability that the number formed is greater than 40000007
(d) What is the probability that the number formed is less than 70000007

) ?MW/ bol sumbes 2 and F ave /\QW/ /3‘02_7-2’7_:,2.60

b) Thoe ave 3 odd Ao bess Pmb@ s end {'QSLAUA»JDQ/\/&gCukd”‘UJO:]“.
So'\g“&?‘&c& m«%ﬂ’ms/% Mam__é;’w?o%m%%

212!

ifus  #e OX gl
/ 212] 3x 6]
re P/Wuubo\ fuwn.ol v OM) = 212 _ %!

P

1260 ta
Q) T It musber mud b 4,6 For F. Thn we o +CZ
ofter mubers. So 4 x 6! Py F@u&,&é”): 212, =—_¥_

2ull 1260
) The I momben sk “he 2734 0, oo we arangp. e

ofer, aunbed (6)//3'0 5"6’ _ 900

2] &}
_qo  _ &
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22 A four-person team is chosen at random from seven women and nine men.

(@) In how many ways can the team be chosen?
(b) What is the probability that the team will consist of four men?

8 0, = 1820

9 qCa - 9
“C, 130

23 Mr and Mrs Zeno and their four children go to the theatre. They are randomly allocated six adjacent seats in a
single row. What is the probability that Mr and Mrs Zeno are allocated seats next to each other?

5 poilions gl hte U ey 0OOO0D

Roo fho ot posat b ask fo Rocor Rin. (2 pibiline)

o we ot o Bids (&1

o 2xS5x4l _2x5l_ 21
§! 6! 6 3

From a group of 9 people, how many ways to choose 1 umpire and two teams of 4?

~ \ g —
TKM/\ne, dhoore 4{)6.0?& wfan 8 @—g‘”/ o "Cy=70
S ks 9x°C, = 630-
BUT we ad o mbaz/MzL%S peofle ore- mamad
A/B/C,D/E/F/ G'/H/ -H}u_ cpuf&,aé {Ecuw ARCD /E:FG—H o
, dome an EFGH /ABCD . S e fotal W«Jé wags

o 630 _ 315
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